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<{froot>
Switch#

show interfaces G g 5/ 3 capabilities

GigabitEthernet5/3
Model: VS-S720-10G
Type: 10/100/1000BaseT

Speed: 10, 100, 1000, aut o Dupl ex: hal f, ful

Trunk encap. type: 802.1Q,ISL

Trunk mode: on,off,desirable,nonegotiate
Channel: yes

Broadcast suppression: percentage(0-100)

Fl omcontrol: rx-(off, on, desired), tx-(off, on, desired)
Membership: static
Fast Start: yes
QO0S scheduling: rx-(2q4t), tx-(1p3qg4t)
Q0S queueing mode: rx-(cos), tx-(cos)
CoS rewrite: yes
ToS rewrite: yes
Inline power: no
SPAN: source/destination
ubLD yes
Link Debounce: yes
Link Debounce Time: no

Ports-in-ASIC (Sub-port ASIC) : 1-5 (3-4)
Remote switch upTlink: no
Port-Security: yes
Dotlx: yes
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<ffroot>
NativeIOS#

show i nterfaces fastethernet 3/1 status

Port Name Status Vlan Duplex Speed Type
Fa3/1 connected routed

a

-half


https://www.cisco.com/c/ko_kr/support/docs/lan-switching/ethernet/10561-3.html#appb
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-100 10/100BaseTX

NativeIOS#

show run

!
interface FastEthernet3/1

ip address 172.16.84.110 255.255.255.0
!

NativeIOS#

show i nterfaces fastethernet 3/1

FastEthernet3/1 is up, line protocol is up
Hardware is C6k 100Mb 802.3, address 1is 0002.7ef1l.36e0 (bia 0002.7efl.36e0)
Internet address is 172.16.84.110/24
MTU 1500 bytes, BW 100000 Kbit, DLY 100 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsulation ARPA, loopback not set
Keepalive set (10 sec)

Hal f - dupl ex, 100Mb/ s
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<{froot>
NativeIOS#

show run

interface FastEthernet3/2

no ip address
!

NativeIOS#
configure term na

Enter configuration commands, one per line. End with CNTL/Z.
NativeIOS(config)#

interface fastethernet3/2



NativeIOS(config-if)#
dupl ex full

Duplex will not be set until speed is set to non-auto value

l-—— Error: On this platform, you must set the speed before the duplex.
I--- Not all switch platforms have this command ordering requirement.

NativeIOS(config-if)#

speed 100

NativeIOS(config-if)#

dupl ex full

NativeIOS(config-if)#

Nz

NativeIOS#

show i nterfaces fastethernet 3/2 status
Port Name Status Vlan Duplex Speed Type

Fa3/2 notconnect routed

full

100 10/100BaseTX

NativeIOS#

show run

interface FastEthernet3/2
no ip address

dupl ex ful

speed 100

I--- Notice that the speed and duplex commands appear in the configuration
!--- now because they have been manually set to a non-default behavior.

Ct& &332 3850 &/ 9500 Catalyst A Q|0 72 ZLCt. Of ol Alofl M= Ol2{8t & A 2I%|
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<#root>
Switch 1#
show run interface TwentyFi veG gE1/ 0/ 2

Building configuration...

Current configuration : 37 bytes
!

interface TwentyFiveGigEl/0/2
end

Switch_1#
configure term na

Enter configuration commands, one per line. End with CNTL/Z.
Switch_1(config)#

interface TwentyFi veG gE1/ 0/ 2
Switch_1(config-if)#

dupl ex full
Switch_1(config-if)#

speed 1000
Switch_1(config-if)#

end

*Aug 1 19:26:33.957: %LINEPROTO-5-UPDOWN: Line protocol on Interface TwentyFiveGigEl/0/2, changed stat
*Aug 1 19:26:34.913: %SYS-5-CONFIG_I: Configured from console by console
*Aug 1 19:26:34.957: %LINK-3-UPDOWN: Interface TwentyFiveGigE1l/0/2, changed state to down

*Aug 1 19:26:38.819: % .1 NK-3-UPDOMN: Interface TwentyFi veG gE1/ 0/ 2, changed state to up *Aug 1 19:26: 39

Switch_1#

show i nterface TwentyFi veG gE1/ 0/ 2 status

Port Name Status Vlan Duplex Speed Type
Twel/0/2

connect ed
1
full 1000
10/100/1000BaseTX SFP
Switch_1#
show cdp nei ghbors Twent yFi veG gE1/ 0/ 2
Capability Codes: R - Router, T - Trans Bridge, B - Source Route Bridge

S - Switch, H - Host, I - IGMP, r - Repeater, P - Phone,
D - Remote, C - CVTA, M - Two-port Mac Relay

Device ID Local Intrfce Holdtme Capability Platform Port ID
Switch_2 Twe 1/0/2 124 S I WS-C3850- Gig 1/0/1



Total cdp entries displayed : 1
Switch_2#
show run interface G gabitEthernet1/0/2

Building configuration...

Current configuration : 38 bytes
|

interface GigabitEthernetl/0/2
end

Switch_2#

show i nterfaces G gabitEthernet1l/0/2 status

Port Name Status Vlan Duplex Speed Type
Gil/0/2

connect ed

1

~ful

a

-1000 10/100/1000BaseTX

GigabitEthernet IE{H 0| A MM St Z FE 3 A(half duplex)E & 5t240 6 C
8t @ F HIAIX|I7t EAIE = U&LICH

Ojo
M
Ju
EA
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>

<#root>
Switch_1#
configure term na

Enter configuration commands, one per line. End with CNTL/Z.
Switch_1(config)#

interface twentyFiveG gE 1/0/2
Switch_1(config-if)#

dupl ex hal f

% Dupl ex cannot be set to half when speed autonegotiation subset contains 1Gops, 2. 5Ghps, 5Gops or 10Gbps

%27} 1009 QIEH 0|ABH 5} T FZ2A (half duplex) AHS +2H8 4 laLich

<{froot>



Switch_1(config-if)#
speed 100
Switch_1(config-if)#

dupl ex hal f

Switch_1(config-if)#
Switch_1(config-if)#

speed 1000
Cannot change speed to 1000Mops when in half dupl ex

Switch_1(config-if)#

end

Switch_1#
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%CDP-4-DUPLEX_MISMATCH: duplex mismatch discovered on GigabitEthernet2/0/20 (not half duplex), with XXXXX GigabitEthernetO (half duplex)
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EE C Auto-MDIX & X|HE|l= AQ|X| EE1E AW
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Auto-MDIX(Automatic medium-dependent interface crossover)= A9 x| QIE{H O| A0 BBt
0|2 HZE RY(AELOIE-AR EE ARAQH)S BX|StT AHSSE J0i| U H HAES 74
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E D show interfaces 20| Zl= A0
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show interface 30| £34 ==

SHEE(QTEiz) o8 Jt2EE Salk 2X W Yukxiol ol

A®H: show interfaces counter. pause input 7} 2
E{7} E7t6tH =& HEH7L 7Ho| # & | AZE
ClHto|A S| ERHE ROl UA| BX|5te RAE
2 UA| K] o|0|gL|ct Yutxl Ol o] 7t RE= AR
M Z2UE 58522 HE M3l EMo=z
S7tefLct. 2 E ClHio| A0 EfEE 2
& £ Q/E [ pause packets7} S X|ELIC}

A3: show interfaces counters errors. 2323 @
FE 8Tl W2 BLIX| ot CRC(=E &
S AAh7F EZE 4 T £9| FIRE QL
Ct. et Q1 4QI: o8t @ F= Lo 2 0]
= 21X EA|(od: 70|, ¥R E
FZEI NIC)Z Qlaf| gh gL ct. 70|
S|
o

M
[
o
IR re

C

2

mr H of
O |m py
A

b=}
o
X0
m rir

S MZEIH OfefE 07 B YR

£l
N
N I

o

d
-—

, 5120f Q= CHE Clhio|A 7Ho| &
olgfst @77t &g = A&LIcH &
BHE of Q| &HE 2F = Catalyst 4000 Al2|=
Supervisor |(WS-X4012) EE= Supervisor (WS-
X4013)0{l M 7t 2 EE|X| et &L|cH.

1
ronr o;I B
(]l
40 4%
30
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r
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1Tt
HU 20

ol
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A®H: show interfaces counter. EZHAS! Jabber
EtO|H7t BtREIRAE S LIEFHLICE Jabbere=
1518 octet2 Ct Z 1 (Z B HIEE X elstR|T
FCS octet2 Z &), B 9| octet 2 &
LIX| AHLHHE 2LF) ¥ FCS 277 U=
=Y Lct,

babbles

AH: show interfaces counters errors.  Carri-
Sen(carrier sense) 7+2E{= 0| ZHEEE{7}
5tz FZ& A (half duplex) 2120 AM CIlO|E{E
Hilgdn & mjofct S7tstuc HEE 7| 3
ME Zx|sta, Est7| o A8 S0 ot K|
£ EOIBLICH UBHAQl §IOl Sz FEAA

Carri-Sen




(half duplex) OIS Ml 2 E ol A &451Ql
Ao,

collisions

AM™H: show interfaces counter. Q/E{HH| O A 01| A
Olc|o{of ME3Xez Zle MEs§7| ™ol &
=0| eh gk S lL|Ct Uit ol ol stZ 7
Z = A (half duplex)2 MHEl QIE{H O|A0MHE
S=0| & 0|x|ot, & FE=A(full-duplex) !
Emo|A Q| A< LIEILIAM = o ELICH S=0|
A &7tetct™, 83 AFE 0| Bt Sl
Ct. == AT ClHIO|A R} FER AT UX[F
X etg =& &Lt

CRC

AH: show interfaces counter. ECHEIS S A|
7|= LAN AE|0|M EE= Z|SEH C|HFO| A0 M
HMHE CRCIt = 4lE ClOlE{of| M Hl¢HE M= N
of Ux|eHX| f2 m SIFELICH Leka{el ol
CH7H LAN Q@IE{H O|A EE= LAN AHA| 2] 0| =
= ™ME EAE LIEFLICEH CRC 77t BE 2
™, 7= S=0| Helolx[gt 22X E&(od: 7|
o223, & CIE{HO|A EE NIC) & FE8

= o,
A EYUXIE o0lg =& A&LICH

deferred

ATH: show interfaces counter. O|C[0{7} AFE &
O[AR7| HZ ol CHZ|RICHt BB XMoo= TMEE =
Blol =L|ct LRl HRl: S &l AFARLIH
O|0| AH8 B2l &EHOM Z&f| TE S A5t
£ §=Z FZ3HA(half duplex) 8ol F2 L}
EbEFLICH

input packets with dribble condition

A3 show interfaces counter. dribble HIE @7
= ZHo| T & mf LEFEL|ct elEkxd el 2
Rl ol =i 27 FIR2EHE ARIX[0M =

HUS 82 E HE NSe SHo=z F7te

L|C.

Excess-Col

M™: show interfaces counters errors. 1T &t
SEZ Qs EX QIE{H 0|AM M M& 0| Alufst
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ZE ClHolASto FEHA BUIE 7HEIY 4
UELICH B REAAZ 74T QlE{H 0|2
olAs BEO| LIEHLEME o ELict

FCS-Err

ATH: show interfaces counters errors.
FCS(Frame Check Sequence) 2 &/ 7} UX|2F =
M 2FeE s, REdt 370 =Y I
LIC LRI QL CHIH A O[22, EF ZE
£ = £ NIC(Network Interface Card)Qt &2
21X EMXCF FEHA 2UX|E LIEILIE A
| = A&t

© Mo

M- show interfaces counter. CRC L& 7}
SEI I 7 Tt ofH(RHE 2 F), &R
|El ZjZlo| =QlL|ct. URFA QI Ol CH7

= =2|™ 2X|(od: ZA0IEE, E

NI

> K

O g ol 4 32

> ot
i e
lo |m

C)7|' Holo|x|gH FEHA E<

mot rr Mg

Giants

MH: show interfaces & show interfaces
counters errors.  Z|CH IEEE 802.3 Z&|& 37|
(H ME o] 2 1518H}0|E)E =15t £
FCS(Frame Check Sequence)7} Qle=, £AIEl =
ol duch 2Etxl el ci7f= =3 NICTL
Helduct EXe| ClHHO|AE Fot HE =0
M M7t AL, E3HE 0d2|: Cisco I0S
Previous to software Version 12.1(19)EWE 4!
Si5hE Catalyst Cat4000 SeriesE ZB|I &
1518HIO|E 0|4 &7t5t= KO E FH2EH L
C. 12.1(19)EWEE{= 1518HI0|ES ZTH5tD
ET FCS7t U= =2 418 miBt show
interfaces 2| giant7} & 7+&fLIC}.

M- sh interfaces counter. IE{H|O|A =S
049| LHE HHIH7| £ Z3HT! 77HEof| QIE{m| 0| A0
M EAIE =4IE TiZlo| =lL|Ct., P40l
Ql: HEECIHAE AE T2l A2 HAE |20
ignored Zt2E 7 Z7HE = U&LICH

Input errors

A™: show interfaces counter. HHZ{Ql 240l
: 097]04= runts, giants, no buffer, CRC, frame,
overrun, ignored 72 E7t ZEELICH CHE &

2B O MR 9 98 2T BIHE




i
o

[E{ oM & ol& el 2
&LICh et o] EAHE &
E O]

Eo| gtHet UxIE =+ &L

Late-Col

AH: show interfaces show interfaces counters
errors. M& ZZMAQ| Fdto] EH QIE{m0|A
oM S&0| B X|El= ALt 10Mbit's ZE
o| A2 mfZ! M&0lM 512HIE A|ZH(bit-time) Of
Z2lL|C}. 10Mbit/s A|AEI0|A 512H|E AlZH2
51.20t0|3 2 0f siEEFLICH LEk={Ql §Hel

O| 2FE 0 & & SoME FEHA ELURI
ojn|g = U&LICH FEHA SUX| AlLtE
B2 stZ FEHA(half duplex)oi| A X|2d
O| LtEFELICEH ot= FE = A(half duplex)
M&stD U2 M E FE=HA(full-duplex)
=ME 7|Ct2lX| ot S Aol M&ELICH.
J2 Qlef| X|ed S=0| gLt X[ SE=
Ol #A|0|E§ E= MOHET} 47 Zohs 9
O == ALt E FEHARZ FHE QEH
| o|A0|MHE S=0| LIEtLEM= 2 ElLIC.

[ % Ofy FO M~
o © i 1o

J
r
e

lost carrier

=

A show interfaces counter. Bt& 07} M& &
ofl AF2FEI Sl ct YEHX Q1 2401:7]|0|E 0|
EFCIX| ZOolgL|CH &0l 22| 2 =

QIghLch.

Multi-Col

M™H: show interfaces counters errors. 21E{1H| O]
A0|A O|C|o{of HEB Mo 2 ZPE ME5HY]
Mol CtE SE0| edls XedL|c kA0l
HQl: ot Z FE= A (half duplex)2 MHEE QIE
Ho|AMME S=0| H&O|X|BH E FEHA
(full-duplex) RIE{H O|A O] B LIEFLIM= ©F
ElLIct S=0| 3A &7t8tctH, @3 AFEE0|
OCHeE SEQLCH £ A ClHIOlAS R E
AATF UX|GHR| 22 = U&LC.

S

no buffer

A43: show interfaces counter. H{I{ Z27+0]| g0
AAEH = AIE THZIO| £~QlL|CH EFA QI 2421
ignored 7+2 EQt H| W ElL|C}. CHIH ol2{§t ofHI

EEEHEECEIHAE AEO| MUY £+ U&LCH.




A3 show interfaces counter. &0 Bt& a7t
o carrier oA ?‘—’F%!I—IEP. 2 HH = Ol -?.;40._|:7ﬂ0|§0a %?f

QIX| &fQlgtL|Ct ¥ZZo| 22|M HAZES &l

L|Ct.

M QF 7t EX|EZX| IY=E0E H7I e

. 2 MEdE o} RHH2E THZI9| 7H=lL[Ct it

Out-Discard x40 2I01: T B7HS HI 7| I8 043 T

2 m7|g mE U&LCh.

output buffer failures output buffers swapped out

A show interfaces counter. AI{3t HI{o| £
L A2 O RE HIHO| =QL|Ct. Uutxiel Ol
ZEO| AQELE ERElo| ST 2D ZE
oM I EcjElol 2 MEF = gieH ZEE
Tx o izl T 2IgL|Ct. Tx HE 7} 7S
A ZEJIHZIZ ARG AIRSHH, 22
underruns 2! output buffer failure 7}2E{7} &7}
grLICH. output buffer failure 7}2E &7t ZE
JHMESH SR EE FEHAZ M™ME|HLE
{5 B2 EciZlo| XEE S1tst= /A2 2/0|
& £ Q&LICH O|EHIH 1gig HEIFHAE A
E 2| §tLI7} 100Mbps ZE 247H0i Z 2/ EIC}
I 7h&srL|ct o|adA CIE{HoO|A 7 RE{MHE
A3 ZME|E A2 output buffer failure7t Out-
Discard?t &f7H &7t5te= A2 Ea Lt 2X|
128 HE &= ol EAMol X[HAEl Z 2| 2(Out-Lost

It = Out-Discard) MM E XA AI.

output errors

A3 show interfaces counter. 1E{H| 0| A 04| A
COIE{ 2ol %|F MES2 Y= RE 27 &
AL|CH Lutxel §401: o] EXMl= £ Ch7|Y

- 1= = L
o 7|7t 7| WE o LHefLICt

=2 o-d

overrun

M A7 StE0{0H = £IE Cl|IOIE{E 5t
E o HHo| ME SR 28 Xeuich Lt
MOl ol EpfE @23 K71 =417]9| HlO|H
2| 52 L|C}.

[= 2 |

o = =H A
g ZIMG

packets input/output

A show interfaces counter. /E{H 0| A 0f A
FAStD MEE 2 F Qi Ao B LCH
. Egf{Zlo| 2Ht2 A QIEHH O|AE X|L} O|S 5t
=X| {2 & &elst= o f33st=2 £ 0|28t 7t

T= T

26 712 ZLIE2IELICE bytes FFHRE{0E
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Rcv-Err

M- Catalyst 6000 Series & - show
interfaces counters error. EFH%{Q1 $4Q1: =34
Z 02|12 XA, ESHE 0f 2 Catalyst
5000 AI2|= rev-err = =41 H{I{ AT}, oiZ4CH
runt, giant === FCS-ErrE rev-err 7+2E{E &7}
AlZIK| et &LICt 5KQ| rev-err ZFRE{E I8t
Ecizio| g st Z<olgk ZItELICE Catalyst
4000 SeriesOll M rev-err = 2E 4l 27 9| &HA|
. Catalyst 50002 & 2| IE{H 0| A0 M runt,
giant E= FCS-Erret 22 L7 E 418 M rev-
err 7t 2E{7t 7tgrLICt.

Runts

ATH: show interfaces & show interfaces
counters errors. %A |[EEE 802.3 Z&|& 37|
(0|2 64HIOIE)ELCH 2t 1 EF CRC7I U&=
FAE Zh e detdol ol FEHA 2 AUX|
2 22| 2A|(of: AZE ClHto|Aa el EFF A O
E, ZE NIC)7} Held == &Lt E3HE o
Ql: Cisco IOSE A& 3= Catalyst 4000 Al2|=
QLIcH AZ EQof B 12.1(19)EW O|Tol &
runt = undersizeR{& LICt. Undersize = 64HIO|E
ECh 22 Z LT runt IR E{ = 64HI0|E
HCl &2 Zpf|de =48 B2t S7t&L
Ch 12.1(19)EWSElE runt = ZEIME
(fragment) IL|CH ZTEiIHE = 64HIO|EEC}
21 2 CRC7F U= ZA|FULICE a2t o
XN e 64HO|EECH 21 28 CRC7I YE =2
g £ AI5HH, show interfacesoll M runt 7+ E
7}, show interfaces counters errorsOil M &
fragments 7+2E{7t S7+&LICt. Cisco Catalyst
3750 Series Switches. Cisco IOS 12.1(19)EA1
Ol Zl2|A 2| AL Catalyst 37502 EZH 3 QIE
H 0| A0 M dot1qE AF& 3™ show interface &
oM HEE 2 = U&LICt olz{st mf3lol 2
HI2H MEE|HEHE g-tagE Z & 5H= 61~64Ht
O|Eo| R &8l dot1q Zi= 3=l WZ!0| Catalyst
375001 o|af 2 7|7t &2 TS E HAE|7|
MELICH ot22{ o] HHZ!I2 =4l SH0lM 3t
g SR D 2|(RLIFHAE, HE|FHAE E= HEZ
EFHAE)| B E|X| ot&LICt O] EX|= Cisco
10S ZI2|A 12.1(19)EAT EE& 12.2(18)SE 0|4
ol M SHEEIRA&LICE




Single-Col

A4 show interfaces counters errors. 2I1E{TH O]
A0|A O|C|o{of B Xz ZP|ds XS5

Moj| Bt S =0| ghMEH E14Q0L|Cf, HExd0]

01 3t FE=A(half duplex)2 MY El QIE
Ho|A0AME SE0| HAO|X|EH E FEHA
(full-duplex) RIE{H|O|A o] B LIEFLIMH= ©F
ElLICH. 50| 3H &7tetctH, 23 APREFOI
Bicte SSQILICH E= HAEE EIHFOI/\QF
HATL UR[SHR| 2t 2 =5 UELICH

throttles

A% show interfaces. OtOFE HHI{ = Z 2 Al
MHECEE Qs ZEOQ| £ AI7|7} H|E A3 E
Z1=QlL|Ct. throttles ZHRE ZF CH 0l EHE(*) 7+
LIEFLLEE, BP0l A>HE [ QIEHO|AT AR
EEE 0IDI°H—IE+ UEHRQI 201 ZZ MM 2

H{EE? §7|.A|7I uH?IOE'— QA % ;\Tl;al'ol- IP
mfZ! Ot2 E TTL, Hl ARPA Z&st, ZejaHE
3l El'd, ICMP THZ!, MTU &34 A E = &Hst
I{Z!, RPF A1, IP X34, Z0| 27 S0l U&

L|CH.

underruns

| &

M 47|17 A %0
| =l

Ch 2 £ 2 AE

Ql: ol= AMEIFOo| Bt2 &&,
Ho|A0M 2 CHE S| HA
lE{m|O|A0 SAl0| EHEF B¢
& LICH underruns@t &7A QIE{H|O|A X
o] Yo &= U&Lct.

o 3
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X

I
O 0 M

> ok
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2
0z

ol
A

= |
[l
02!

UnderSize

M- show interfaces counters errors. |4

|IEEE 802.3 =& 37|92l 64HI0|E £} = X|2H
(Z8| HIE= M 2|, FCS octet2 Z &), SHHE
S4AI0| 2 AIE| Za[QlQL|Ch {0l 240]- o]

O 1=
Zo|¥E M&st= ClHIO|AE FlgfL

Xmit-Err

AH: show interfaces counters errors. L& &
E(Tx) HEH7I 7} S22 o|Olg L c ekl
el Xmit-Erre| & ¢l & stLtes DCHAEE 3
aow O 22 cHYE 32 AQ3E= E)
|t = 048] QHIR2E 2T oM B o} 2HIR
E 232 AQEE|l= ESfEQLICE oE S04
CHE S| HAE EEiZlo| 7|7HH|E QIE{H| o A0f
25104 100Mbps QIE{HO| AR AQAE|= Z




2,12 QI3 100Mbps 1E{H| O[ A0 A Xmit-
Err7} Z7He == QJ&LICH Ol QHIRE CHEE
1} ot RHI2E CHHEZo| S 71 YR|SHX| @fot
e QE{m|o|lAe| &3 Hujof ut =3 EEfZ0|

257 2 Lct.

BEEE FAQ(X|'2|S =ET JéI‘E‘)
1. M| XIS B2 AF3SHOF &L 7?

C|dtO|A T} 802 uEES EFTECIHKS ?éé!% ArEste Wdol E&LICH £ ®Eof o
8t XEAMIEH L& 2 Cisco Catalyst Switch2| NIC e %

7|59 EIHPO|/\7P M7|1Mo 2 HAZAL|QICH | 44 HHIEI ZEOAME
SELICH 0|E S04, 20| RIAIo| L ESE JIX|T AIRAES WESE &
Ct.

2. QE{H|0|A0M RS HeE D™ stedH o{EH| sHok & LI7t?

MAgUCH aeHE & 2 7
% speed autoS ASHELICH.

Mk

RQIEHOlA HdHHM SIE A YE SE U F
HA DT AS HY o2 MA™EELLICH E

3. ZEQO| SR S oY H & &= U&LII?

show interface <interface > status &S A LICH status EE0i a HFA7F QU=X| &0l
gLICh ol ZEOM X5 ool 2 EEIRYS2 2lO|gfLIct o|EHI™ a-full, a-100{LIC}.
adFAZL QoM ZEE EAE OS2 &5 FHELICH O[ZE™ full, 100QILICH
show run interface<interface> BH2 Al 50{ AL|x|Q| X2 =fQIgL|Ct.

4. QlE{H0|A 0| 7|SE o EH & = U&LIN?

show interface capabilities B&
stol S/REHA LUHEHE E ‘BA'QL—IEP.

5. 23 TELA0|M AHS B&0| THEIR| o2 F2, ZEJ FHE FEUL DEE HXISHK
RstE 0lRE FRULITL?
O| 2t e &g WHo| glezz ZEO|M Ol B KISHX| L& LCH.

6. F ZEO|M MR CIE FEAHA RET} FHEIIEHIE 2371 HZE YEIZ EAIE £ 2
£ 0lRE FUULIN?




CDP7} AI|22|0|M H|I CHat AFRIE = 3H

x| SHAS AZ3HX| et

al
L%=|L—|E|-

EUXIE

e

l24 2
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